CONTENTS | = covrevs
AF Series

www.autolinearmotion.com AK Series
® | B BF Series

A' M B BK Series
Linear Motion Systems EF Series

EK Series

FF Series

FK Series

Support kits for miniature ball screws
WBK Series Heavy Load

Lock Nut

Suggested Mounting End




Support Unit

AF Series
Ord'er Model No. Surface Applicable ballscrew Bearing
Coding treatment accuracy grade
AF10_C7 ) c7 60877
Black Oxide
AF10_C3 C3 60877
AF10
AF10_C7N Electyoless C7 608DD
AF10_C3N Nickel Plating c3 608DD
AF12_C7 . Cr 600027
Black Oxide
AF12_C3 C3 600022
AF12
AF12_C7N Electyoless 7 6000DDU
AF12_C3N Nickel Plating c3 6000DDU Black Oxide
AF15. C7 o7 600222 (Fit for normal conditions)
Black Oxide
AF15_C3 C3 600227
AF15
AF15_C7N Electyoless 7 6002DDU
AF15_C3N Nickel Plating c3 6002DDU
AF20_C7 Cr 620427
Black Oxide
AF20_C3 C3 620427
AF20
AF20_C7N Electyoless o 6204DDU
AF20_C3N Nickel Plating 3 6204DDU
1. ltis used double pressed steel cages for Black Oxide type support units.
2. ltis used double plastic cages for Electroless Nickel Plating type support units.
3. All of bearings Use Japan’ s brand bearings. ) )
Nickel Plating

(fit for dust-free conditions)

20X oY z Part No. Part name Qty
\ o\ ? /e 1 Block Body 1pc
\ J / 2 Bearing 1 set
el ; 3 C-Rings 1pc
EPE i
AF —JL—L—*»
Unit: mm
Model b h : :
No dl L B H 0z Too Bl H1 El P d2 X Y Z E Bearing | C-ring
AF10 8 20 60 43 35 25 36 35 19 52 6.5 9 14 11 15 60827 S08
AF12 | 10 20 60 43 35 25 36 35 19 52 6.5 9 14 11 15 | 6000zZ S10
AF15 15 20 80 49 40 30 41 40 19 60 6.5 9 14 11 15 600227 S15
AF20 | 20 26 95 58 | 475 ] 30 56 45 19 75 6.5 11 17 15 15 | 620477 S20




Support Unit

AK Series
Ord.er Model No. Surface Applicable ballscrew Bearing
Coding treatment accuracy grade
AK10_C7 C7
T000A PO
AK10_C5 Black Oxide C5
AK10_C3 C3 T000A P5
AK10
AK10_C7N C7
7000A PO
Electyoless
AKIO_CSN Nickel Plating ©
AK10_C3N C3 T000A P5
AK12_C7 C7 .
7001A PO Black Oxide
AK12_C5 Black Oxide C5 (Fit for normal conditions)
AK12_C3 C3 T001A P5
AK12
AK12_C7N C7
T001A PO
Electyoless
AKI2_C5N Nickel Plating ©
AK12_C3N C3 T001AP5
AK15_C7 C7
T002A PO
AK15_C5 Black Oxide C5
AK15_C3 C3 T002A P5
AK15
AK15_C7N C7
T002A PO - - ~
Electyoless 8 ¢ = ]
AKLS_CON Nickel Plating C5 QJ Q \s (\)}
- -
AK15_C3N C3 T002A P5 -
AK20_C7 C7 T204A PO . .
Nickel Plating
AK20B_C7 C7 7204B PO (fit for dust-free conditions)
AK20_C5 Black Oxide C5 T204A PO
AK20B_C5 C5 7204B PO
AK20_C3 C3 T204A P5
AK20
AK20_C7N Cc7 T204A PO
AK20B_CT7N Ccr 72048 PO
Electyoless
AK20_C5N Nickel Plating C5 T204A PO
AK20B_C5N C5 72048 PO
AK20_C3N C3 T204A P5
1. ltis used double pressed steel cages for Black Oxide type support units.
2. ltis used double plastic cages for Electroless Nickel Plating type support units.
3. All of bearings Use Japan’ s brand bearings.




Support Unit

2-0X aY
I T
£ w
AK10~AK20 AK10~AK25
(L2) L3
Part No. Part name Qty \
1 Block Body 1pc | 12 ’,
2 Bearing Iset i — T e
3 Binder Pate 1pc 18y
4 Distance Ring 2 pcs ! J; 7
5 Seal 2 pcs | =
6 Lock Nut 1 set : | =
7 Hexagon Socket Set Screw 2 pcs : }
c1 | |e2
L1 L
AK20
Unit: mm
b h
o dl L L1 | L2 | L3 B H Bl | H1 | E1 P d2 X Y z M T E Cl| C2
No. 0.02 | 0.02
AK10 | 10 | 24 30 6 70 | 43 | 351 25 | 36 | 35| 19 | 52 | 65 14 [ 11 | M3 | 16 | 15 - -
AK12 | 12 | 24 30 6 70 | 43 | 351 25 | 36 | 35| 19 | 52 | 65 14 [ 11 | M4 [ 19 | 15 - -
AK15 | 15 | 25 36 80 | 49 | 40 | 30 | 41 [ 40 | 19 [ 60 | 65| 11 | 17 | 15 | M4 | 22 | 15 - -
AK17 | 20 | 42 | 10 [ 50 | 10 | 95 | 58 | 48 [ 30 | 56 | 45 | 19 | 75 [ 65 | 11 | 17 [ 15 | M4 [ 30 | 15 | 22 | 10




Support Unit

BF Series
Ord.er Model No. Surface Applicable ballscrew Bearing
Coding treatment accuracy grade
BF10_C7 C7 608772
Black Oxide
BF10_C3 C3,C5 60877
BF10
BF10_C7N Electyoless c7 608DD
BF10_C3N Nickel Plating €3,C5 608DD
BF12_C7 Cc7 6000727
Black Oxide
BF12_C3 C3,C5 600027
BF12
BF12_C7N Electyoless 7 6000DDU
BF12_C3N Nickel Plating C3,C5 6000DDU ,
Black Oxide
BF15_C7 . C7 600222 (Fit for normal conditions)
Black Oxide
BF15_C3 C3,C5 600277
BF15
BF15_C7N Electyoless c7 6002DDU
BF15_C3N Nickel Plating C3,C5 6002DDU
BF17_C7 Cc7 620377
Black Oxide
BF17_C3 C3,C5 620377
BF17
BF17_C7N Electyoless 7 6203DDU
BF17_C3N Nickel Plating €3,C5 6203DDU
BF20_C7 ) Cc7 600477
Black Oxide
BF20_C3 C3,C5 600427
BF20
BF20_C7N Electyoless c7 6004DDU
BF20_C3N Nickel Plating C3,C5 6004DDU
BF25_C7 Cc7 620577
Black Oxide
BF25_C3 C3,C5 620577
BF25 Nickel Plating
BF25_C7N Electyoless cr 6205DDU (fit for dust-free conditions)
BF25_C3N Nickel Plating C3,C5 6205DDU
BF30_C7 Cc7 620677
Black Oxide
BF30_C3 C3,C5 620677
BF30
BF30_C7N Electyoless c7 6206DDU
BF30_C3N Nickel Plating €3,C5 6206DDU
BF35_C7 Cc7 6207727
Black Oxide
BF35_C3 C3,C5 6207727
BF35
BF35_C7N Electyoless c7 6207DDU
BF35_C3N Nickel Plating C3,C5 6207DDU
BF40_C7 Cc7 620877
Black Oxide
BF40_C3 C3,C5 620877
BF40
BF40_CTN Electyoless c7 6208DDU
BF40_C3N Nickel Plating C3,05 6208DDU
1. ltis used double pressed steel cages for Black Oxide type support units.
2. ltis used double plastic cages for Electroless Nickel Plating type support units.
3. All of bearings Use Japan’ s brand bearings.




Support Unit

Part No. Part name Qty
Block Body 1pc
Bearing 1set
C-Rings 1pc
2-0X aY
B1
4-@d2
| |
7
N [
oo oo Q
L1 / Lol : \ : ,
™ Y / = i
SO I
Tz \ \ e f i j
L Lo / m ;
= AT | | / : /
]/ \ i i \
| | L |
f T f
: - b
P |
1
BF B )
b h
Mﬁge' d1 L B H BL | H1 E P d2 X Y Z |Bearing| C-ring
’ 0.02 0.02
BF10 8 20 60 39 30 22 34 33 15 46 5.50 6.60 | 10.80 [ 5.00 [ 6082z S08
BF12 10 20 60 43 30 25 34 33 18 46 5.50 6.60 | 10.80 [ 1.50 [6000ZZ| S10
BF15 15 20 70 48 35 28 40 38 18 54 5.50 6.60 | 11.00 [ 6.50 |[6002ZZ| S15
BF17 17 23 86 64 43 39 50 55 28 68 6.60 9.00 | 14.00 | 850 |6203zz| S17
BF20 20 26 88 60 44 34 52 50 22 70 6.60 9.00 | 14.00 | 850 |6004zZ| S20
BF25 25 30 106 80 53 48 64 70 33 85 9.00 | 11.00 | 17.50 | 11.00 | 6205ZZ| S25
BF30 30 32 128 89 64 51 76 78 33 102 | 11.00 | 14.00 | 20.00 | 13.00 |6206ZZ| S30
BF35 35 32 140 96 70 52 88 79 35 114 | 11.00 | 14.00 | 20.00 | 13.00 |6207ZZ| S35
BF40 40 37 160 110 80 60 100 90 37 130 14.00 | 18.00 | 26.00 | 17.50 | 620827 S40




Support Unit

BK Series
Black Oxide Nickel Plating
(Fit for normal conditions) (fit for dust-free conditions)
Applicable Applicable
Ord.er Model No. Surface ballscrew Bearing Ord'er Model No. Surface ballscrew Bearing
Coding treatment accuracy Coding treatment accuracy
grade grade

BK10_C7 . Cc7 7000A PO BK25_C7 Cc7 T205A PO
BK10_C5 Black Oxide C5 BK25B_C7 C7 7205B PO
BK10_C3 BK10 C3 7000A P5 BK25_C5 Black Oxide C5 7205A PO
BK10_C7N Electyoless c7 000A PO BK25B_C5 5 72058 PO
BK10_C5N Nickel C5 BK25_C3 C3 T205A P5
BK10_C3N Plating C3 T000A P5 BK25_CT7N BK25 Cc7 T205A PO
BK12_C7 c7 0014 PO BK25B_C7N Electyoless c7 72058 PO
BK12_C5 Black Oxide C5 BK25_C5N Nickel C5 T205A PO
BK12_C3 BKLD C3 7001A P5 BK25B_C5N Plating C5 72058 PO
BK12_C7N Electyoless c7 001A PO BK25_C3N 3 7205A P5
BK12_C5N Nickel C5 BK30_C7 C7 T206A PO
BK12_C3N Plating C3 7001A P5 BK30B_C7 C7 7206B PO
BK15_C7 Cc7 7002A PO BK30_C5 Black Oxide C5 7206A PO
BK15_C5 Black Oxide C5 BK30B_C5 C5 72068 PO
BK15_C3 BK15 C3 7002A P5 BK30_C3 BK30 C3 7206A P5
BK15_C7N Electyoless c7 002 PO BK30_C7N c7 7206A PO
BK15_C5N Nickel 5 BK30B_C7N Electyoless c7 72068 PO
BK15_C3N Plating C3 7002A P5 BK30_C5N Nickel C5 7206A PO
BK17_C7 c7 19034 PO BK30B_C5N Plating C5 72068 PO
BK17_C5 Black Oxide C5 BK30_C3N C3 7206A P5

BK17_C3 C3 T203A P5 BK35_C7 Cc7
BK17_C7N BT Electyoless c7 03A PO BK35_C5 Black Oxide C5 72078°P0
BK17_C5N Nickel C5 BK35_C3 BK35 C3 7207B P5
BK17_C3N Plating C3 7203A P5 BK35_C7N Electyoless C7 12078 PO

BK20_C7 C7 7004A PO BK35_C5N Nickel C5
BK20_C5 Black Oxide C5 BK35_C3N Plating C3 7207B P5

BK20_C3 C3 T004A P5 BK40_C7 C7
BK20_C7N BK20 Electyoless C7 7004A PO BK40_C5 Black Oxide C5 72088 PO
BK20_C5N Nickel C5 BK40_C3 BKAO C3 7208B P5
BK20_C3N Plating 3 7004A P5 BK40_C7N Electyoless c7 9088 PO

BK40_C5N Nickel C5
BK40_C3N Plating C3 7208B P5

1. ltis used double pressed steel cages for Black Oxide type support units.
2. ltis used double plastic cages for Electroless Nickel Plating type support units.
3. All of bearings Use Japan’ s brand bearings.




Support Unit

Part No. Part name Qty
1 Block Body 1pc
2 Bearing 1set
3 Binder Pate 1pc
4 Distance Ring 2 pcs
5 Seal 2 pcs
6 Lock Nut 1set
7 Hexagon Socket Set Screw 2 pcs

L3
2-OX ay
4-@d2
B ,/

O T "
- |

C2

L1 L

Model b h
di| L |||l e|H BL|HL| E| P |lcCci|c|d|x]| Y|z |M]|T
No. 0.02 | 0.02

BK10 | 10 | 25 5 29 5 60 [ 39 | 30 | 22 | 34 | 33 | 15 | 46 | 13 6 55 ] 66 | 11 5 M3 | 16
BK12 | 12 | 25 5 29 5 60 [ 43 | 30 | 25 | 34 | 33 | 18 | 46 | 13 6 55|66 [ 11 | 1.5 | M4 | 19
BK15 | 15 | 27 6 32 6 70 [ 48 | 35 | 28 | 40 | 38 | 18 | 54 | 15 6 55| 66 [ 11 | 65 | M4 | 22
BK17 | 17 | 35 9 44 7 86 | 64 | 43 | 39 | 50 | 55 | 28 | 68 | 19 8 6.6 9 14 | 85 | M4 | 24
8 8 8
9
9

BK20 | 20 | 35 43 88 | 60 | 44 | 34 | 52 | 50 | 22 | 70 | 19 6.6 9 14 | 85 | M4 | 30
BK25 | 25 | 42 | 12 | 54 106 | 80 | 53 | 48 [ 64 | 70 [ 33 | 8 | 22 | 10 9 11 | 18 | 11 | M5 | 35
BK30 | 30 | 45 | 14 | 61 1281 8 [ 64 | 51 | 76 | 78 | 33 [ 102 23 | 11 | 11 | 14 | 20 | 13 | M6 | 40
BK35| 35 | 50 | 14 | 67 | 12 [ 140 | 9 | 70 | 52 | 88 | 79 | 35 [ 114 | 26 | 12 [ 11 | 14 | 20 | 13 | M8 | 50
BK40 | 40 | 61 | 18 | 76 | 15 [ 160 | 110 | 80 | 60 | 100 | 90 | 37 [ 130 | 33 | 14 [ 14 | 18 | 26 | 18 | M8 | 50




Support Unit

EF Series
Order Model Surface Applicable ballscrew Bearin
Coding No. treatment accuracy grade g
EF06_C7 . Cc7 60627
Black Oxide
EF06_C3 C3 60677
EF06
EFO6_C7N Electyoless Cc7 606VV
EF06_C3N Nickel Plating 3 606\V
EF08_C7 . c7 606727
Black Oxide
EF08_C3 C3 606272
EFO8
EFO8_CTN Electyoless cr 606VV _
EF08_C3N Nickel Plating c3 606VV . BlackOxide
(Fit for normal conditions)
EF10_C7 , c7 60827
Black Oxide
EF10_C3 C3 608727
EF10
EF10_C7N Electyoless 7 608DD
EF10_C3N Nickel Plating 3 608DD
EF12_C7 C7 600027
Black Oxide
EF12_C3 C3 600027
EF12
EF12_C7N Electyoless 7 6000DDU
EF12_C3N Nickel Plating 3 6000DDU
EF15_C7 Cc7 600277
Black Oxide
EF15_C3 C3 600277
EF15
EF15_C7N Electyoless 7 6002DDU
Nickel Plati Nickel Plating
EF15_C3N ICkel Plating a3 6002DDU (fit for dust-free conditions)
EF20_C7 . Cc7 620477
Black Oxide
EF20_C3 C3 620477
EF20
EF20_C7N Electyoless 7 6204DDU
EF20_C3N Nickel Plating 3 6204DDU
All of bearings Use Japan's brand bearings.
20X @Y
B1
Part No. | Part name Qty \ o
1 Block Body| 1pc L] @} R S oil i
- T 1 ,
2 Bearing 1set o | e i Li¢
e Do ' T
3 C-ring 1pc ‘ § ‘
i 23 41
b
b j
B L
b h
Mﬁg?l d1 L B H 5 150 B1 H1 P X Y Z |Bearing| Crring
EFO6 6 12 42 25 21 13 18 20 30 5.5 9.5 11 60677 S06
EF08 8 14 52 32 36 17 25 26 38 6.6 11 12 60677 S06
EF10 10 20 70 43 35 25 36 24 52 9 - - 60877 S08
EF12 12 20 70 43 35 25 36 24 52 9 - - 600027 S10
EF15 15 20 80 49 40 30 41 25 60 11 - - 600277 S15
EF20 20 26 95 58 47.5 30 56 25 75 11 - - 620477 S20




Support Unit

EK Series

Order Coding Model Surface Applicable ballscrew Bearing
treatment accuracy grade
EK05_C5 Black Oxide Cc7 605
EKO5 Electyoless
EK05_CSN Nickel Plating cf 605
EKO6_C7 C7 606
EK06_C5 Black Oxide C5 T06A PO
EK06_C3 C3 T06A P5
EK06
EK06_CTN c7 606
Electyoless
EK06_C5N Nickel Plating C5 TO06A PO
EK06_C3N C3 T06A P5
EK08_C7 c7 608
EK08_C5 Black Oxide C5 T08A PO
EK08_C3 C3 T08A P5 ' Black Oxide
EK08 (Fit for normal conditions)
EKO8_CT7N C7 608
Electyoless
EKO08_C5N Nickel Plating C5 T08A PO
EKO8_C3N C3 T08A P5
EK10_C7 C7
7000A PO
EK10_C5 Black Oxide C5
EK10_C3 C3 7000A P5
EK10
EK10_C7N C7 20004 PO
Electyoless
EK10_CSN Nickel Plating o
EK10_C3N C3 7000A P5
EK12_C7 C7
. T001A PO
EK12_C5 Black Oxide C5
EK12_C3 C3 T001A P5
EK12
EK12_C7N C7 0014 PO
EK12_C5N Electyoless cs , ,
Nickel Plating Nickel Plating
EK12_C3N c3 7001A PS5 (fit for dust-free conditions)
EK15_C7 C7
. T002A PO
EK15_C5 Black Oxide C5
EK15_C3 C3 T002A P5
EK15
EK15_C7N Cc7 7002A PO
Electyoless
EK15_C5N Nickel Plating €5
EK15_C3N C3 T002A P5
EK20_C7 Cc7 T204A PO
EK20B_C7 Cr 72048 PO
EK20_C5 Black Oxide C5 T204A PO
EK20B_C5 C5 72048 PO
EK20_C3 C3 T204A P5
EK20
EK20_C7N C7 T204A PO
EK20B_C7N C7 72048 PO
Electyoless
EK20_C5N Nickel Plating C5 T204A PO
EK20B_C5N C5 72048 PO
EK20_C3N C3 T204A P5
1. Bearings are no Preload for C7 type support units, and Max. Axial clearance is 0.018mm
2. Bearings make Preload for C5 type support units, and Axial clearance is Omm.
3. All of bearings Use Japan’ s brand bearings.




Support Unit

Part No. Part name Qty
1 Block Body 1pc
2 Bearing lset
3 Binder Pate 1pc
4 Distance Ring 2 pcs
5 Seal 2 pcs
6 Lock Nut 1set
7 Hexagon Socket Set Screw 2 pcs

EKO6, EKO8
L2) L3
20X oY
H 15 1M1
T T P Srotron sy
i @/ f
L
EK10~EK20
2-M (L2) L3

2-0X \
B1

H1

Model b h
No dl L L1 L2 L3 B H 0.02 0.02 Bl H1 P X Y Z M T
EK05 5 17 5.5 19 26 21 18 11 20 8 28 45 - - M3 11
EKO06 6 20 5.5 22 42 25 21 13 18 20 30 5.5 9.5 11 M3 12
EKO08 8 23 26 32 36 17 25 26 38 6.6 11 12 M3 14

7
EK10 10 24 6 30 70 43 35 25 36 24 52 9 - - M3 16
6
6

EK12 12 24 30 70 43 35 25 36 24 52 9 - - M4 19
EK15 15 25 36 80 49 40 30 41 25 60 11 - - M4 22
EK20 20 42 10 50 95 58 47.5 30 56 25 75 11 - - M4 30

— wlw
1= K2l 520 520 N P Pt
w
N}




Support Unit

FF Series
Ord.er Model Surface Applicable ballscrew Bearing
Coding treatment accuracy grade
FFO6_C7 Cc7 60677
Black Oxide
FF06_C3 C3 60677
FFO6
FF06_C7N Electyoless 7 606\V
FF06_C3N Nickel Plating 3 606VV
FF10_C7 . Cc7 60877
Black Oxide
FF10_C3 C3 60827
FF10
FF10_C7N Electyoless C7 608DD
FF10_C3N Nickel Plating 3 608DD
FF12_C7 , 7 600077 ~ BlackOxide
Black Oxide (Fit for normal conditions)
FF12_C3 C3 600077
FF12
FF12_C7N Electyoless 7 6000DDU
FF12_C3N Nickel Plating 3 6000DDU
FF15_C7 c7 600227
Black Oxide
FF15_C3 C3 600277
FF15
FFlS_C7N Electyoless C7 6002DDU
FF15_C3N Nickel Plating 3 6002DDU
FF17_C7 Cc7 620377
Black Oxide
FF17_C3 C3 620377
FF17
FF17_C7N Electyoless 7 6203DDU
FF17_C3N Nickel Plating 3 6203DDU
FF20_C7 . c7 620427 _ Nickel Plating
Black Oxide (fit for dust-free conditions)
FF20_C3 20 C3 620427
FF20_C7N Electyoless 7 6204DDU
FF20_C3N Nickel Plating 3 6204DDU
FF25_C7 . Cc7 620577
Black Oxide
FF25_C3 C3 620577
FF25
FF25_C7N Electyoless 7 6205DDU
FF25_C3N Nickel Plating 3 6205DDU
FF30_C7 ) Cc7 620627
Black Oxide
FF30_C3 C3 620677
FF30
FF30_C7N Electyoless 7 6206DDU
FF30_C3N Nickel Plating 3 6206DDU
1. Bearings are no Preload for C7 type support units, and Max. Axial clearance is 0.018mm
2. Bearings make Preload for C5 type support units, and Axial clearance is 0mm.
3. All of bearings Use Japan’ s brand bearings.




Support Unit

Part No. |Part name Qty
1 Block 1pc
Bearing 1 Pair

C-Rings 1pc

'I'I
I

2-@X ay

I\
I,
[{e}
= 77777777470 <
8 g o
Mﬁgel d1 L H F Dg6 A PCD B X Y Z | Bearing | Cring
-0.007
FFO6 6 10 6 4 2 | o |36 28 28 34 6.5 4 60622 | SO06
-0.007
FF10 8 12 7 5 8 | o | B 35 35 34 6.5 4 6087z | S08
-0.009
FF12 | 10 15 7 8 34| oo | 32 4 4 45 8 4 | 60002z | S10
-0.009
FFI5 | 15 17 9 8 40| oo | 63 50 52 55 9.5 55 | 60022z | S15
-0.009
FFL7 | 17 20 11 9 50| gos | 77 62 61 6.6 11 65 | 62032z | s17
-0.010
FF20 | 20 20 11 9 5T | oo |85 70 68 6.6 1 65 | 6004zZ | S20
-0.010
FF5 | 25 24 14 10 63 | oo | 98 80 79 9 14 85 | 62052z | S25
-0.010
FF30 | 30 27 18 9 5| Soe | 117 95 93 11 175 11| 620622 | S30




Support Unit

FK Series

000

Black Oxide
(Fit for normal conditions)

000

Nickel Plating

(fit for dust-free conditions)

Applicable Applicable

Ord.er Model Surface ballscrew Bearing Ord.er Model Surface ballscrew Bearing

Coding treatment accu:jacy Coding treatment accu:jaecy

grade gra
FKO5_CT Black Oxide c7 605 FK17_C7 c7 7203A PO
FKO5 Electyoless FK17_C5 Black Oxide C5 T7203A PO
FKO5_CTN Nickel c7 605 T 3 2 03A S
Plating — FK17

o6 T = o FK17_CTN Electyoless c7 7203A PO
FKO6_C5 Black Oxide | C5 706A PO FKI7_C5N FT{;‘:E' C5 7203A PO
e [ S

Lk Electyoless | =1 o FK20B_C7 & 72048 PO

FKO6_C5N Nickel 5 706A PO —

FK06_C3N Plating 3 706A P5 FK20_C5 Black Oxide C5 T7204A PO
K08 C7 o 08 FK20B_C5 s 72048 PO
FK08_C5 Black Oxide | C5 708A PO FK20_C3 FK20 c3 204AP5
e e o

ik Electyoless | =1 o FK20_CoN Elelj Fcyt?;(less c5 7204A PO

FKO8_C5N Nickel c5 708A PO - Ko

FKO8_C3N Plating o 08A PS5 FK20B_C5N g c5 7204B PO
K10 C7 = FK20_C3N c3 7204A P5
FK10_C5 Black Oxide c5 TO00AFO FK25_C7 c7 7205A PO

el Electyoless o 7000A PO FK255. C5 cs5 72058 PO

FK10_C5N Nickel c5 —

FK10_C3N Plating c3 7000A P5 FK25.C3 FK25 c T205A P>
T o | 2 Bl
FK12_C5 Black Oxide C5 = Electyoless
2O 1 b = L FFKK2255I3_ CCSSNN PNl;Ctik% Eg Zgig E’g

L Electyoless L= 7001A PO FK25_C3N c3 7205A P5

FK12_C5N Nickel 5 —

FK12_C3N Plating c3 7001A P5 FK30_C7 cr 1206A PO
K157 T 1 omeo | Frencs stckonde e Ta0ear0
FK15_C5 Black Oxide 5 =
K5 G e = I FK30B_C5 s 72068 PO

Ll e I e SN

FK15_C5N Nickel c5 -

FK15 C3N Plating 5 TN FK30B_C7N Electyoless c7 72068 PO

FK30_C5N Nickel 5 7206A PO
FK30B_C5N Plating cs5 7206B PO
FK30_C3N c3 7206A P5




Support Unit

Part No. Part name Qty
1 Block Body 1pc
2 Bearing lset
3 Binder Pate 1pc
4 Distance Ring 2 pcs
5 Seal 2 pcs
6 Lock Nut 1set
7 Hexagon Socket Set Screw 2pcs

I
9
(]

— - -

Mounting Method A Mounting Method B

Mounting A | Mounting B
Modell 'y 1 | 4 | F | € Dg6 A |peo| B pmER L FOURIEE Ly | vy |z | M | T
No R EGEEEE R

-0.007

Fros| 5 | 17 | 6 |1 |19 |20 |G 34 |26 | 26 | 55| 35| 7 | 5 |34]|65| 4 | M| L
20,007

Fros| 6 | 20 | 7 | 13| 2 | 2 |9%7 36 | 28 | 28 | 55| 35|85 65|34 |65] 4 |M3| 102
0,007

Fros| 8 | 23 | 9 |14 |26 |28 |90 43 {35 |35 | 7| 4 | 20| 7 |34 |65 | 4 | M3 14
-0.009

Fki0| 10 | 27 | 20 | 17 | 30 | 3¢ |00 52 | a2 |42 | 75| s |85 | 6 |45 | 8 | 4 | M3 16
20,009

Fri2| 12 | 27 | 20 | 17 | 30 | 36 | 0002 54 | 44 | 4a | 75| 5 |85 | 6 |45 | 8 | 4 | ma| 10
0,009

Fris| 15 | 32 | 15 | 17 | 36 | 40 [ 00021 63 [ s0 | 52| 10| 6 | 12| 8 | 55| 95| 6 | M| 22
20,009

Fru7| 17 | as | 22 | 23 | a7 | so |00 77 | e2 |61 | 11| 9 | 14 | 12 |66 | 11| 10 | M4 | 24

F20| 20 | 52 | 22 | 30 | 50 | 57 88;‘; 85 | 70 | 68 | 8 | 10| 12| 14 |66 11| 10| Ma]| 30

Fk25| 25 | 57 | 27 | 30 | 60 | 63 88%3 98 | 80 | 79| 3|10 | 20| 17| 9| 15| 13w ]| 35

Fk30 | 30 | 62 | 30 | 32 | el | 75 | ool 117 o5 | 93 | 11| 12 | 17 |18 | 11| 18 | 15 | M6 | 40




Support Unit

Support kits for miniature ball screws (outer diameter 6mm,8mm ballscrew)

2-03.4 G._.H
B Set screw =]
/Jf\: \ | T s
h=t
s
() (T << R
O =) ﬁ W T o I I [
RN NE Y2 T e s . A ¢
’:::
N e
N A
M~
\} L~ M E
v F E
A
Reference no. A C d D1 D2 E F G H W U M
WBKO04R-11 14 25 4 13 12.5 9 5 5 2.5 19 10 M4x0.5
WBKO6R-11 19 30 6 18 17 11 5 6.8 2.5 24 12 M6x0.75
Reference no. Applicable ballscrew Locknut tightening torque Setscrew tightening torque
(reference) [N-cm] (reference) [N -cm]
MIFO601
WBKO04R-11 MIAOGO1 147 38 (M2.5)
MIF0801
WBKO6R-11 MIF0801.5 245 69 (M3)
MIF0802




Support Unit

WBK Series Heavy Load

Park No. Part name Qty
1 Block Body 1pc
2 Bearing 1set
3 Binder Pate 1pc
4 Distance Ring 2 pcs
5 Seal 2 pcs
= = ) —
AN L |
ol '
- S 2 = 44 L g < g &
© ©
SIS S Q Q
NN
SR @ & un r
= 1 I — =
i Ee ,
I I I
| ——— (I — | —— ——
L1 L2 L1 L2
L L
Model No d D D1 D2 L L1 L2 A W X Y YA d1 V P Q
WBK 17DF 17 70 106 72 60 32 15 80 88 9 14 8.5 45 58 M5 10
WBK 20DF 20 70 106 72 60 32 15 80 88 9 14 8.5 45 58 M5 10
WBK 25DF 25 85 130 90 66 33 18 100 110 11 17.5 11 57 70 M6 12
WBK 25DF 25 85 130 90 81 48 18 100 110 11 17.5 11 57 70 M6 12
WBK 30DF 30 85 130 90 66 33 18 100 110 11 175 11 57 70 M6 12
WBK 30DF 30 85 130 90 81 48 18 100 110 11 175 11 57 70 M6 12
WBK 35DF 35 95 142 102 66 33 18 106 121 11 175 11 69 80 M6 12
WBK 35DF 35 95 142 102 81 48 18 106 121 11 17.5 11 69 80 M6 12
WBK 40DF 40 95 142 102 66 33 18 106 121 11 17.5 11 69 80 M6 12
WBK 40DF 40 95 142 102 81 48 18 106 121 11 17.5 11 69 80 M6 12




Support Unit

4-Pdp QPCD @V 4-Pdp QPCO BV
Both Sides Both Sides
6-@X oy /
ZPCDOW | 8-@X gy  ZPCDOW
I A o i A =
§#h4230mm fh#230mm
| — L —.Lg-

-

BKZ!
BK#!

Model No Bearing LZiElcca L(I)_;ndﬂ(i:\l) Pr?,l\l(;ad Stﬁ?;aelss Sthrr(?LTeg Lock nut V\(/Egi?t FndSize

(N) (N/um) | (N-cm) M D3 L3 d L4 L5
WBK 17DF | 17TAC47 P4 | 21900 [ 26600 2150 750 14 M17x1 37 18 1.9 17 81 23
WBK 20DF | 20TAC47 P4 | 21900 [ 26600 2150 750 14 M20x1 40 18 1.9 20 81 23
WBK 25DF | 25TAC62 P4 | 28500 [ 40500 3150 1000 23 M25x1.5 45 20 3.1 25 89 26
WBK 25DF | 25TAC62 P4 | 46500 [ 81500 4300 1470 31 M25x1.5 45 20 34 25 104 26
WBK 30DF | 30TAC62 P4 | 29200 [ 43000 3350 1030 24 M30x1.5 50 20 3.0 30 89 26
WBK 30DF | 30TAC62 P4 | 47500 [ 86000 4500 1520 33 M30x1.5 50 20 33 30 104 26
WBK 35DF | 35TAC72 P4 | 31000 [ 50000 3800 1180 28 M35x1.5 55 22 34 35 92 30
WBK 35DF | 35TAC72 P4 | 50500 [ 100000 [ 5200 1710 37 M35x1.5 55 22 4.3 35 107 30
WBK 40DF | 40TAC72 P4 | 31500 [ 52000 3900 1230 28 M40x1.5 60 22 3.6 40 92 30
WBK 40DF | 40TAC72 P4 | 51500 | 104000 [ 5300 1810 38 M40x1.5 60 22 4.2 40 107 30




Support Unit

Lock Nut
i Max
Order Coding Model No. Surface treatment Tightening (kgf-cm)
RNOS Black Oxide
RNO5 N M5xP0.5 Electyoless Nickel
— Plating
RNO6 Black Oxide
RNO6 N M6x P0.75 Electyoless Nickel 25
— Plating
RNO8 Black Oxide
RNO8 N M8xPLO Electyoless Nickel 50
— Plating
RN10 Black Oxide
RN10 N MI0x P10 Electyoless Nickel 95
— Plating
RN12 Black Oxide
RN12 N M12xPL.0 Electyoless Nickel 140
— Plating
RN15 Black Oxide
RN15 N M15xP1.0 Electyoless Nickel 240
— Plating
RN17 Black Oxide
RN17 N M17xP1.0 Electyoless Nickel
— Plating
RN17TW M17xPLO Black Oxide -
RN17W N (for WBK17-31) Electyoless Nickel
— Plating
RN20 Black Oxide
RN20 N M20x P1.0 Electyoless Nickel 480
— Plating
RN20W M20 x P10 Black Oxide .
RN20W N (for WBK17-31) Electyoless Nickel
_ Plating
RN25 Black Oxide
RN25 N M25x P15 Electyoless Nickel 860
_ Plating
RN25W M25 x P15 Black Oxide 5o
RN25W N (for WBK17-31) Electyoless Nickel
_ Plating
RN30 Black Oxide
RN30 N M30x P15 Electyoless Nickel
— Plating
RN30W M30x PL5 Black Oxide 2000
RN30OW N (for WBK17-31) Electyoless Nickel
— Plating
RN35 Black Oxide
RN35 N M35x PL5 Electyoless Nickel
— Plating
RN35W M35 x P15 Black Oxide 00
RN35W N (for WBK17-31) Electyoless Nickel
_ Plating
RN40 Black Oxide
RN40 N M40x P15 Electyoless Nickel
— Plating
RN4OW M40 X P15 Black Oxide a0
RN4OW N (for WBK17-31) Electyoless Nickel
_ Plating

Black Oxide
(Fit for normal conditions)

Nickel Plating
(fit for dust-free conditions)

Black Oxide
(Fit for normal conditions)

Nickel Plating
(fit for dust-free conditions)



Support Unit

Suggested Mounting End

BK Type
C C
M o
il \ .
S
~
= °
,,,,, S | S A | R SRR | SRR RS SR | RN
8 Q
% ! T s
| | 3
I L F E
| |
BK Type
OD of the Length of the
Model No ballscrew OD of the shaft end 5 : - Thread Sleave Nut
d D M S C
-0.005
BK10 12/14/15 10 8 36 15 M10x1 16 55
-0.012
-0.005
BK12 14/15/16 12 10 36 15 M12x1 14 55
-0.012
-0.005
BK15 18/20 15 12 40 20 M15x1 12 6
-0.014
-0.005
BK17 20/25 17 15 53 23 M17x1 17 T
-0.014
-0.005
BK20 25/28 20 17 53 25 M20x1 15 8
-0.014
-0.005
BK25 32/36 25 20 65 30 M25x1.5 18 9
-0.014
-0.005
BK30 36/40 30 25 2 38 M30x1.5 25 9
-0.015
-0.005
BK35 45 35 30 81 45 M35x1.5 28 12
-0.015
-0.005
BK40 50 40 0.015 35 93 50 M40x1.5 35 15




Support Unit

FK, EK, AK Type

M
\ [a)
Q
~
< kel
= N | | A IS WU |
3 Q
S
F E
C C C C C C
EE i 1k ﬂ L
H fm 4 i — OO
J T mre e
=] = i LI
_I 3= I I
Ii‘ B 321 I [
| i
FK & FK & EK, AK B¢
Length of
ODofihe OD of the shaft end Thread the sleeve
Model No ballscrew B E F nut
d D M S C
-0.005
FKO5 EKO05 - 8 5 4 25 6 M5x0.5 7 3.5
-0.012
-0.005
FKO6 EK06 - 8 6 4 28 8 M6x0.75 8 5
-0.012
-0.005
FK08 EK08 - 10/12 8 6 32 9 M8x1 10 5.5
-0.012
-0.005
FK10 EK10 AK10 12/14/15 10 0,012 8 36 15 M10x1 11 5.5
-0.005
FK12 EK12 AK12 14/15/16 12 .02 10 36 15 M12x1 11 55
-0.005
FK15 EK15 AK15 18/20 15 0.014 12 40 20 M15x1 13 10
-0.005
FK17 - - 20/25 17 15 53 23 M17x1 15 10
-0.014
-0.005
FK20 EK20 AK20 25/28 20 0.0 17 53 25 M20x1 17 11
-0.005
FK25 - - 32/36 25 20 65 30 M25x1.5 20 15
-0.014
-0.005
FK30 - - 36/40 30 0,015 25 12 38 M30x1.5 25 9




Support Unit

FF, EF, BF, AF Type

@)
Q
cod I 1 O s
Q
G886
F %850
E
= e ;
i@l il
|
B 1 Y | B 1 Y | i en—
@] o1
]
FF Type FF Type EF, BF, AF Types
OD ofthe OD of the shaft end
Model No. ballscrew E B F G
d D
FFO6 EFO6 8 6 0005 9 57 6.8 0.8
-0.012 ' ’ '
-0.005
- EF08 - - 10 6 9 5.7 6.8 0.8
-0.012
-0.005
FF10 EF10 BF10 AF10 12/14/15 8 000 10 7.6 7.9 0.9
-0.005
FF12 EF12 BF12 AF12 14/15/16 10 0.012 11 9.6 9.15 1.15
-0.005
FF15 EF15 BF15 AF15 18/20 15 0,014 13 14.3 10.15 1.15
-0.005
FF17 - BF17 - 20/25 17 16 16.2 13.15 1.15
-0.014
. -0.005
FF20 EF20 BF20 AF20 25/28/30 20 0,014 19(16) 19 15.35(13.35) 1.35
-0.005
FF25 - BF25 - 30/32/36 25 20 23.9 16.35 1.35
-0.014
-0.005
FF30 - BF30 - 36/40 30 21 28.6 17.75 1.75
-0.015
-0.005
- - BF35 - 40/45 35 22 33 18.75 1.75
-0.015
-0.005
- - BF40 - 50 40 23 38 19.75 1.95
-0.015






